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Fill in the blank in the given
sentence so as to make sense. Select
the correct word from the answer
choices :

Winners condition and ..........ccoinnnes
themselves to winning.

(a) pledge

(b) quesfiqn

() coach

(d) commit

A word has been written in four
different ways out of which only one
is correctly spelt. Find the correctly
~ spelt word :

. (@) Comander

. (b) Commander

(¢) Commandor
(d) Comandar

Out of the four alternatives, choose
the one which best expresses the

meaning of the given word :
INEVITABLE

(a) Unavoidable

(b) Probable

(c') Expected

(d) Fixed
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What does the abbreviatiorr “http”
stand for ?

(a) Hypertext Transfer Protocol

(b) High Task Termination
Procedure

(¢) Harvard Tel_etext .Proof

(d) Hindustan Times Te‘chnical
Professionals.

Which of the following crops needs
maximum water per hectare ?

(a) Barley

(b) Maize

(c} Sugar cane
(d) Wheat

From where the Kisan Movement in
Rajasthan started ?

(a) Alwar

(b) Jalore

(¢) Bharatpur |

@ Bijolia

Three numbers are in the ratios

3 : 4 : 6 and their product is 1944.
The largest of these numbers is :

(a) 6
(b) 12
() 18
(d) 20
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1607 x 1607 = ?
(a)' 2582449
(b) 2580499
() 2582949
d) 2585499

Four words have been given, out of

which three are alike in some

- manner and the fourth one is

different. Choose out the odd one.
(a) Cot

(b) Sheet

() Quilt

(d) Pillow

In a certain code, TREE is coded as

7100, and FROG is coded as 2159;

how is FREE coded in that code ?
(a) 2100
(b) 3100
(ci 1003

(dy 1002
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11. An automatic response to a stimulus

12,

13.

()

(©

is called :

(a) Activity

(b) Reflex

(c) Hyperactivity
(d) Mqvement

The rope of tissue connecting the

placenta to the embryo is :
(a) Umbilical Cord

(by ,Amniot_ic Sac

(c) Fallopian Tube

(d) None of the above

The characteristics of child-directed

speech are :
Irregulérity and stammering
(b) Gestures and symbols

Soft and clear language

(d)

High pitch, clear pronunciation,

repletion of new words
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14.

15.

16.

The knowledge that one is male or
female and the ability to make that

judgement about other people is :
(a) Internalization
(b) Gender Identity

(¢) Understanding

. (d) Ego Identity

A joyful physical or mental activity
which is sufficient in itself and does

not seek any ulterior goal, is :

(a) Modeling

(b) Assertive

(c) Play -
(d) None of the above

Prior to about 6 months of age the

méjor emotions infants show, are :
(a) Disgust, anger and fear

(b) Fear, anger and joy

(¢) Joy, wariness 'and guilt

(d) Pleasure, wariness and joy



17.

-18.

19.

Piaget’s final stage, which occurs

. between the ages of 11 years to

15 years, is :
(a) Sensory motor stage
(b) Concrete operational stage

{c) Formal operational stage

(d) None of the above

The period of prenatal development |

that occurs 2 to 8 weeks after |

conception :

- (a) Infancy

(b) Fetal period
(c) Embryonic period
(d) Germinal period

The sequence in which growth starts
at the centre of the body and moves

towards the extremities.
(a) Proximodistal pattern
(b) Cephalocaudal pattern
(c) Cross-sectional

(d) Longitudinal pattern
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21,

22.

Competence in u_.sing l;arger
muscles or the whole body for motor
activity, is :

(2) Grasping

(b) Motor Dé\felopment

(c) Fine Motor Development

(d)  Cross Mobor Development

The common health condition

causing disability in old agé, is :
(a) Arthritis

(b) Weakness

(c) Nervous breakdown

(d) Language disorder

The embedding of the blastocyst in
the uterine wall after its descent

through the fallopian tube is :
(a) Fertilization
(b} Implantation

{¢) Ovulation

(d) None of the abové



23.

24.

25.

Ego Identity versus

Confusion (Erikson’s Theory) is

‘related t0 ..ocoeeeeeeneerrriieniaennns ;

(a) Early Adolescence
(b) Adulthood

(c) Late Childhood
(d) Old Age

The term Id, Ego and Super Ego are

given by :
(a) Freud
(b) Erikson
{c) Piaget |
(d) Gessell

Growth refers to T

change.

| (a) Qualitative

(b) Quantitative
(c) Both (a) and (b)

(d) None of the above
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26.

27.

28.

Fundamentally a process of social

interaction is :
(a) Discussion
(b) Observation
(c) Record

(d) Report

§—

Freud is known as father of

(a) Learning

(b) Developmental

(@ Psychoanalyticai
(d) None of the above

............................ means an increase in

size, height and weight of body in

" general.,

(a) Development
(b) Growth
(¢) Maturation

(d) Progressiveness

).._\



29.

30.

3L

Sensory motor stage of sequential..

was given by :

(@ Freud

(b) Piaget

©) Erikson

(d) Lewin

Gang age is :

(a} 0 to 2 years:

(b) 2 to 6 years

" {c) 6 to 12 years

(@) 12 to 19 years

A unit in which members are related
with each other on the basis of bleod,

marriage or adoption is :

(a) Family

(b) Society
(¢) Community

(d) None of the above
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32.

33.

The term ‘Society’ refers to :
(a) The persons living in an area

(b) The persons professing the

same religion -

(c) The system of social relationship

(d) None of the above

One wife, many husbands is :

(a) Polygyny

(b) Polyandry

‘(¢) Monogamy

(d) Hypergamy |

The direction of cephalocaudal

development is ........ccceeevvvsinnnee emeeene .
(a) Head to toe

(b) Central to extremities

(¢) ToeK to head

(d) Extremities to central



J
8;5. Developmeﬁt PALLEIN IS ..cvvrnnrnsrerecons {388 ‘Eating dis""d‘e? in\ which a person
regularly eats huge quantities of
{a) .Unpredictab}e fo0d ?
(b) IPredictable- ' (a) Anorexia
{c) Both (a) and (b} (b) Bulimia nervosa

. - tt )
(d) None of the above (¢} Over-eating

(d) Binge eating -
36. The best prediction of job
. 39. Irregular sleep state in which there
performance in older age is : ) )
: ' is a slight body movement and brain
(a) Normative ideas wave activity is similar to that of
waking state ?
(b) Creative ability
{a) Disturbed sleep
(¢} Memory ability .
(b) Rapid eye movement sleep
(d) Cogniti bili '
gritive ability (¢} Non-rapid eye movement sleep
37, i is a sexual (d) Insomnia -
orientation towards the same sex. | 40. Parenting style that emphasizes
() Homosexual | control arid obedience is : »

. (a) Authoritarian
(b) Heterosexual

(b) Democratic
{c) Bisexual
{¢) Acceptance

{d) None of the above

: (d) Aggression
24-Home Sei. (H.D.) 10 |
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41.

42.

43.

Puberty growth spurt is the period

between :
(a) 12-16 years
(b) 6-10 years

(c) 2-6 years

) 12-20 years

Family is :

(a) A biological social unit
(b) A system of nomenclature
(¢ Both ‘(a): and (b)

(d) Congenital unit

When a boy and girl enjoy a status

of husband and wife without

‘marriage, it is known as ................. .

(a) Singlehood
(b) Courtship
(¢) Co-living

(d) None of the above
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44.

45,

46.

‘Nai Taleem’ concept in education
was given by :

(a) Gandhi

(b) ‘Pestalozzi

() Froebel

(d Tagore

Maria Montessori emphasized the

most on :

(a) Mqtor development

(b) Emotional development
(cj Cognitive development
(d) Social developme‘nt_-

Hindu Marriage Act was passed in

th_é b=} oSO ;
{a) 1950 | |

®) 1965

(c_) 1955

(d) 1957



47.

48.

49.
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Stages of moral development is
ZIVEN BY eovereceeerreceerreniene
(a) Piagét‘

(b) Froebel

(c) Kohiberg

(d) Skinner

Anganwadi are run by :
(a) FPAI

(b) ICDS

(e) ICCW

ICSW

(@

When answers are required to fill
up in yes or no form, the type of

questionnaire is called :
(a) Open ended

(b) Structured

{¢) Unstructured

{(d) Close ended

19

50.

51.

52.

Human growth hormone is secreted

by :

(a) Thyroid gland
(b) Pituitary gland
() Gonads-

(d) Adrenal gland

value of play has

---------------------------

healing effects and creates

emotional balance,

(a) Entertainment
(b) Scientific

(©) | Therapeutic

(d) None of the above‘

“Emile” and “Social evils” are

fam.ous books of .......covriiiincenn, .
(a) Froebel

(b) Montessori

(c) Gandiliji

(d) Rousseau




53.

64,

55.

56.

The séx of the child is determined
by :

(a)
(b)
(0
(d)

Male _-
Female

Both

............................. is the most
important and influential agent of
child’s socialization.

(a) School

(b) Family

(c) 'Neigh‘bourhood

(d)  Peer grbup

Molecule containing gen_étic

information is known as :
(a) RNA
(b) PNA
(¢) DNA
@ CNA

Study of a language’s sound system
is known as : '

(a) Morphology
(b) Ecology

(¢) Syntaxology
(d) Phonology

24-Home Sci. (H.D.)
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58.

59.

57. Who gave the term “Kindergarten” ?

(a) Piaget
(b) Dewey
(¢) Froebel

(d) Rousseau

- Declaration of international year for

women was :
(a). 1980
(b) 1997
(00 1977
(d) 1987
Grasp Reflex is when :

(a) Soles of newborn are stroked;
infants spread their toes and

twist feet inward

(b) Infants are laid on

y

backs, they assume a ‘fencing

position

(¢) Infants throw their arms and

legs outward and bring them
back

(d) Infants close their fists on the
stimulating objects and grasp

firmly



' 60. ‘Gifts’ and ‘Occupations’ are given | 63. Adaption in cognitive theory has

by : _ : two aspects : |

fa) Maria Montessori (a) Scheme and equilibration

(b) Rousseau (b) Assimilation and accommodation

(¢) Accommodation and equilibration

I

(¢) Froebel

d T (d) Scheme and assimilatién
agore

- - | 64. Study of treatment of elderly person

61. This Hormone is secreted by the . |

. is called T

sex glands in the ovaries : '

(a) General medicine

(a) Testosterone
: (b) Geriatric medicine

(b) Estrogen :

(¢) Gerontology medicine

(c) Thyroxine

(d) Gerratic medicine

(d) Human growth hormone .

65. Popularity of a person in a group

62. REM i : ‘
mems . can be assessed by : -

(@) Radian ear message (a) Standardized technique

(b) Rapid eye movement (b) Projective technique

(c) Red eye movement {¢) Sociometric method

(d) Renowned energy management "~ {(d) Emotional intelligence test
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66. To enhance fine motor skills in
young children, apprdpriate
activities are : |
(a) Hopping,lJogging, breading,

climbing etc.
~ (b) Beading, tearing, cutting and

~ pasting, sorting etc.

(c) Sorting, pouring, jlingle-gym,-

balancing etc.

(d) Conversation, singing, reciting
and story-telling
67. ‘Empty Nest’ means :
" (a) When nest of the birds is
removed from building
(b) When children leave home and
parents are left alone

(¢) When married children move to

nuclear families

(d) When a couple separates out

- and seek divorce

94— Home Sci. (H.D.)

68.

69.

70.

Intelligence in human beings is

~ influenced by :

(a) Heredity
(b) - Enirironmer;t

() Interplay of Heredity and

Environment
(d) Neither of the two

Levels of thoughts (Unconscious,

- sub-conscious and conscious) are

given by :
(a) Erikson
(b Pavlov
(c) Freud
(d) Piaget

Important criteria of admission of

children in preschools‘ are :
(a)  Age -

(b) Distance and age

(¢) Merit and age

(d) Communication skills and toilet

training

| PSSR SO €
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